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1|#il 383 1,411 1,164 289 8 3,255 9,064| 15,897| 14,869] 11,620 189 51,639
=RstE 0 0 179 0 179 0 0 1,143 0 0 1,143
FE 0 0 121 0 121 0 0 878 0 0 878
IR 588 0 0 111 0 111 0 0 1,197 0 0 1,197

Y E 58 0 0 53 0 53 0 0 656 0 0 656

2| R 348 1,109 576 252 29 2,314 5,166 8,047 6,536 762 224 20,735
3| v 471 1,015 865 266 32 2,649 5,018 7,675 8,256 905 176 22,030
FFHEE 0 0 251 0 251 0 0 2,778 0 0 2,718
4[4k 407 1,437 920 281 3,052 4,682 11,479 9,646 1,170 112 27,089
] 0 0 778 0 778 0 0| 10,032 0 0 10,032

5|PE RS 331 1,365 676 79 30 2,481 7,370  12,174| 22,829 101 311 42,785
B S8 0 373 0 373 0 0 3,493 0 0 3,493
BRI EE 0 29 0 29 0 0 132 0 0 132
UNES Gy 0 93 0 93 0 0 346 0 0 346

6| LFE 299 503 280 260 13 1,355 4,840 3,278 2,341 902 100 11,461
B 53 BE 0 0 73 0 73 0 0 562 0 0 562
&MY 0 0 275 0 275 0 0 2,312 0 0 2,312
= 213 1,696 669 286 18 2,882 4,236 14,214 8,440 2,747 220 29,857
8|E® 173 1,245 415 271 4 2,108 4,084 10,117 4,960 1,065 95 20,321
9|mtr 620 1,464 467 288 20 2,859/ 11,029] 15,168 7,550 5,826 198 39,771
hnysEsy BE 0 0 112 0 0 112 0 0 605 0 0 605
10|51 259 1,606 1,964 284 18 4,131 7,762|  20,846| 18,946] 14,990 238 62,782
1115k 296 1,172 425 274 1 2,168 5,166 10,618 5,303 1,011 4 22,102
12|18 H 187 1,066 764 288 5 2,310 5,199 9,219| 13,755 5,582 172 33,927
13| k& 237 1,260 391 281 2 2,171 6,206] 13,528 4,970 4,552 32 29,288
RS BE 0 0 189 0 0 189 0 0 1,392 0 0 1,392
14| BER 254 1,200 461 2717 4 2,196 5,357 10,174 8,249 713 65 24,558
15| & ~F 266 638 147 12 20 1,083 5,155 5,099 2,443 4,959 189 17,845
16| H 376 836 212 196 20 1,640 4,530 6,202 2,716 196 213 13,857
17| K7t 263 1,329 957 261 39 2,849 5,337 10,546| 10,896 909 80 27,768
183K 312 1,668 817 282 38 3,117 5,369| 13,731| 11,675 1,447 183 32,405
ZE R 0 0 241 0 0 241 0 0 1,682 0 0 1,682
19|/ 588 1,323 636 176 16 2,739 8,860 9,865 7,658 336 238 26,957
20[JE3R 247 1,134 834 250 20 2,485 6,777 9,850 9,732 644 4217 27,430
21|#km 221 1,376 497 161 17 2,272 5,331| 11,321 6,538 279 145 23,614
221 146 925 225 179 1,481 3,405 7,186 3,861 353 86 14,891
KE 8 0 0 33 0 33 0 0 261 0 0 261
23|f@E 231 1,316 557 270 10 2,384 5,047) 11,243 7,389 1,008 150 24,837
24[B 1 218 1,432 555 285 2,497 3,648 11,783| 10,776 1,466 134 27,807
2535 H 327 1,189 891 234 2,649 6,568 9,234 9,888 540 122 26,352
26| & 503 1,647 667 286 13 3,116/ 13,397] 17,199 7,308 9,173 246 47,323
27[x0L 386 1,664 1,308 0 35 3,393 10,660| 17,278| 14,227 0 262 42,4217
28| tEEE 349 427 150 240 12 1,178 3,927 3,038 1,000 523 75 8,563
Gkl 0 0 55 0 0 55 0 0 297 0 0 297
29|fHIFE e 303 794 957 285 4 2,343 7,993 6,889| 13,472 2,587 145 31,086
30[fE. 227 1,000 491 187 15 1,920 4,072 7,256 4,279 432 110 16,149
3131 254 1,350 872 278 4 2,758 4,267 12,465 9,997 1,287 23 28,039
32 [ 197 957 939 0 69 2,162 3,980 7,876] 10,754 0 724 23,334
33[MHER 417 1,054 405 0 1,881 8,980| 10,384 7,205 0 26 26,595
RIR5yEE 0 0 1 0 1 0 0 2 0 0 2
34| HI%F 216 673 365 1 12 1,267 7,425 6,011 5,056 9 501 19,002
IG5 0 228 0 228 0 0 2,226 0 0 2,226
EA gy 0 412 0 412 0 0 3,239 0 0 3,239
(RN Y=g 0 819 0 819 0 0 7,356 0 0 7,356
35| BEERAT 102 434 143 0 14 693 3,306 2,877 2,559 0 80 8,822
[V 0 0 151 0 151 0 0 1,036 0 0 1,036
36 [~ 295 1,067 562 0 1,929 10,603 9,819 9,578 0 46 30,046
N FE 188 725 256 158 56 1,383 4,214 7,057 7,906 268 396 19,841
& & 11,110] 42,507 28,057 7,417 636] 89,727] 228,030| 376,643| 355,188| 78,362 6,737) 1,044,960




